B Building Blocks
HE

FURNITURE

ELLE CRIB

Assembly Instructions
Instructions d' assemblage

]
/ﬂlj
=

——
7
/
I
\\
\
\

—]
j
7 AW l/__aj

!

t L
= = H B
=)= |
= = == ~ |
AN EEEE ZEEB EBE Bl H
— mil=Il
- OQHREE J2EE EB (B HBEE M
W ~ = H = =B |H BlBEBHd n
1 -
IEH = B AE B BEAA T
—  |E - =
ilq i i <E A dL
< ™ N~ 1 =
‘“KH/ S il
\LELL | L
HQ\\ iy )?
N
LULLL Bl
—~
_ gl

\

il

The Boutiq,ue Qurnitune Brand.

IMPORTANT: Please read instructions carefully and keep for future reference.

IMPORTANT: Priére de lire le mode avec attention et de le garder pour l'avenir

839 Central Parkway West,Mississauga,Ontario,Canada
L5C 2V9,Phone:905 361-1970 Fax:905 361-1969

Toll Free: 1-877-728-0342
www.caramiafurniture.com




Thank you for choosing Caramia Furniture.

To ensure the best performance from your crib,please read the following
instructions carefully.Carefully remove and layout all parts.Familiarize yourself
with all exhibits and diagrams to facilitate the assembly of your crib.

Merci d' avoir choisi Caramia Furniture.

Pour assurer le meilleur rendement de votre d'enfant,s'il vous plait,lisez
soigneusement pie'ces.Familliarisez vous avec toutes les pie'ces expose’es et
diagrammes pour faciliter 'assemble’e de votre lit d'enfant.

Parts list / Liste des pieces

Headboard/ Téte de lit
Footboard/ Pied du it
Left Crib End/ Extrémité gauche du lit

Right Crib End/ Extrémité droite du lit
Mattress Support/ La base du matelas
6 M6 x 60 Allenhead Bolts/ Boulons a six pans de M6 x 60
M6 x 45 Allenhead Bolts/ Boulons a six pans de M6 x 45
20 Lock Washer/ Rondelle de écluse
20 Washer/ Rondelle
1 Allenhead Wrench/ Clé a six pans

Extensional Kit not supplied/ Kit Extensionel non fourni

Rails/ Rails
Slats/ Lamelles

Double Bed Support/ Soutien double du lit
Wood Screw 35mm/ Vis a bois de 35mm

CTIOTMMUOmW>
i QU G G G G G

D WWN




Assembly of Crib Ends/ Assemblage des extrémités de lit d'enfant

Step 1: Attach mattress base to crib ends,
Attach the mattress base to the crib ends by inserting
Allenhead Bolts(G),Lock washer(H),Washer(l) to lower holes.
Using Allenhead wrench(J) that are provided,tighten the
bolts on both side.

Etape 1: Attacher la base du matelas aux ectrémités de lit d'enfant.
Attacher la base du matelas aux ectrémités de lit d'enfant en insérant
Le boulon a six pans de(G),rondelle de écluse(H),rondelle(l) au trou
le plus bas.En utilisant les clés a six pans(J) qui sont fournis,serer les
boulons de part et d'autre.

This Step Requires/ Cette étape requis

((((((((((((((((I((@ (G)4) M6 x 45 Allenhead Bolts/ Boulons a six pans de M6 x 45

)
&> (H)4) Lock Washer/ Rondelle de écluse
@& (1)4) Washer/ Rondelle
)

é @1 Allenhead Wrench/ Clé a six pans

] IVl

TR T
TV T
W T
N\
WET
|

\I;
\\E
'

|\ -

eI




4

Step 2: Attach headboard & Footboard.

Attach the headboard & Footboard to the left and right crib ends by
Bolts(F),Lock washer(H),Washer(l) into the upper & lower holes.

Using Allenhead wrench(J) that is provided,tighten the bolts on both side.
Etape 2: Attach la téte et le pied du lit.

Attach la téte et le pied aux ectrémités gauches et droites du lit en
insérant les boulons(F),rondelle de écluse(H),rondelle(l) dans les
trous supérieurs et inférieurs.En utiisant la clé a six pans(J)

fourni, serrer les boulons de part et d'autre.

This Step Requires/ Cette étape requis

((((((((««WW-(‘@ (F)16)M6 x 60 Allenhead Bolts/ Boulons a six pans de M6 x 60

& (H) 16)Lock Washer/ Rondelle de écluse
(1) 16)Washer/ Rondelle

——) (O 1)Allenhead Wrench/ CIé a six pans

v/
[

\\v/

N\

ZZANTI] AN N\
R\ VAV W

N

AN




Step 3: In order to adjust the height of the mattress support,
remove the 4 Allenhead Bolts(G) from the crib ends to the mattress
support. Revise the height to the desired position,then reinstall
the 4 Bolts. Tighten securely.

Etape 3: Pour ajuster la hauteur de I'appui de matelas,enlevez les
4 boulons a six pans de (G) des extrémités de lit d'enfant a I'appui de
matelas. Révisez la hauteur a la position désirable,puis réinstaller
les 4 boulons. Serrez solidement

This Step Requires/ Cette étape requis

—— (W1) Allenhead Wrench/ Clé a six pans

1 |
W\HW 1 — /W
] T e T
sl I THAE BB |8 Al |
“ N1
o

IMPORTANT: When child is able to pull to a standing position, set mattress to lowest position
and remove bumper pads, large toys and other objects that could serve as steps for climbing out.

IMPORTANT: Lorsque le bébé peut se tenir debout, placer le matelas a la position la plus
basse, enlever tout ce qui pourrait aider le bébé a grimper et tomber en dehors.




Convert to Toddler Day Bed/ Transformer en lit de jour pour bébé

Step 4: Remove the Footboard to convert into a Toddler Day Bed.
Etape 4: Enlever le pied de lit pour leTransformer en lit de jour pour bébé.

\\¢Z/2//4//)

\

Important: If converting crib to Toddler daybed,make sure that
the mattress support is in the LOWEST position.

Important: Si vous convertissez le lit de bébé en lit de repos pour enfant,
assurez-vous que le support a matelas est au niveau LE PLUS BAS




Convert to Full Size Bed/ Transformer en plein lit

Step 5: Assembly of the Full Size bed(Extension kit are not included).
Attach rails to the headboard & footboard parts by inserting hooks.
The wood slats have to be fixed on each hole of the rauls
with 35 mm wood screws.

Etape 5: Assemblage de plein lit(Kits extensionnel non fournis).
Attacher les rails a la téte et qu pied du lit en insérant les
crochets.Les lamelles du bois doivent étres fixésdans chaque
trou des rails avec des vis a bois de 35mm.

ammmf) (N) 6) Wood Screw 35mm/ Vis a bois de 35mm

JENA\N W |

/AN W

'III'I\ T 1

3 Double Bed Support /
Soutien double du lit




B Building Blocks
] n

FURNITURE

839 Central Parkway West,Mississauga,Ontario,Canada
L5C 2V9, Phone:905 361-1970 Fax:905 361-1969
Toll Free: 1-877-728-0342

Email: info@caramiafurniture.com
. www.caramiafurniture.com

READ ALL INSTRUCTIONS BEFORE
ASSEMBLING AND USE OF CRIB.

FOR FUTURE USE AND REFERENCE
RETAIN THESE INSTRUCTION SHEETS
AND CRIB ASSEMBLY TOOLS IN THE
ORIGINAL SACK AND SECURE IT TO THE
MATTRESS SUPPORT WITH PLASTIC TIES.

/\ WARNING

Infants can suffocate on soft bedding. Never add a

pillow, comforter. Never place additional padding
under an infant.

FAILURE TO FOLLOW THESE WARNINGS AND THE
ASSEMBLY INSTRUCTIONS COULD RESULT IN
SERIOUS INJURY OR DEATH.

To reduce the risk of SIDS, pediatricians

recommend healthy infants be placed on their backs
to sleep, unless otherwise advised by your physician.

Strangulation Hazard:
Strings can cause strangulation! DO NOT place

items with a string around a child’s neck, such as
hood strings or pacifier cords.DO NOT suspend

strings over a crib or attach strings to toys.

To help prevent strangulation tighten all fasteners. A
child can trap parts of the body or clothing on loose

fasteners.

DO NOT place crib near window where cords from

blinds or drapes may strangle a child.

Fall Hazard:

When child is able to pull to a standing position, set
mattress to lowest position and remove bumper
pads, large toys and other objects that could serve as

steps for climbing out.

When child is able to climb out or reaches the height

of 35” (90 cm), the crib shall no longer be used.

SVP LIRE LES INSTRUCTIONS
D'ASSEMBLAGE AVANT D UTILISER
VOTRE BASSINETTE.

GARDER LES INSTRUCTIONS ET LES OUTILS D'
ASSEMBLAGE POUR USE FUTUR DANS LE SAC
ORIGINAL ET ATTACHER-LE SUR LE SUPPORT DE
MATELAS AVEC DES ATTAQCHE PLASTIC.

/\ ATTENTION

Le bébé peu s étouffer sur de la literie
trop molle et n'ajouter pas de coussin,
oreiller ou autre objet trop mou

en dessous du bébé.

Si vous ne suivez pas toutes ces
instructions, il pourrait subvenir des
accidents grave et méme la mort.

Afin de réduire le RISQUE DE MORT
SUBITE, les pédiatres recommande que
les bébés soient couchés sur dos

pour dormir, a moins d avis contraire de
votre pédiatre.

PROBABILITE D' ETRANGLEMENT

Ne rien mettre au tour du cou des enfants
avec des cordes tel que capuchon, suce .
Ne pas suspendre des jouets

avec corde au- dessus de la bassinette.

Afin d éviter aucun de ces accidents,
assurez-vous que l'installation est
conforme car le linge ou des parties de
son corps peuvent se prendre.

Ne pas placer la bassinette pres d' une
fenétre ou il y a des cordes qui pendent
car le bébé pourrait s étrangler.

Lorsque le bébé peut se tenir debout,
placer le matelas a la position la plus
basse, enlever tout ce qui pourrait
aider le bébé a grimper et tomber en
dehors.

Lorsque le bébé aura grandit
jusqu'a 35 pc (90 cm ), ne plus vous
servir de la bassinette.




.! Bulldmg Blocks

FURNITUR

839 Central Parkway West,Mississauga,Ontario,Canada
L5C 2V9, Phone:905 361-1970 Fax:905 361-1969
Toll Free: 1-877-728-0342

Email: info@caramiafurniture.com
. www.caramiafurniture.com

A WARNING

Before each usage or assembly, inspect crib for
damaged hardware, loose joints,missing parts or
sharp edges.

DO NOT use crib if any parts are missing,

damaged or broken. Contact ,CARAMIA FURNITURE,

839 CENTRAL PARKWAY,WEST, MISSISSAUGA,

ONTARIO, CANADA, L5C 2V9 for
replacement parts and instructional literature, if

needed.DO NOT substitute parts.

DO NOT use a water mattress with this crib.

If refinishing, use a non-toxic finish specified for
children’s products.

Never use plastic shipping bags or other plastic

film as mattress covers because they can cause
suffocation.

DO NOT suspend strings over a toddler bed for
anyreason.

Infants can suffocate in gaps between crib sides and

a mattress that is too small.

Parents should ensure a safe environment for their
child by regularly checking, before placing the child
in the crib, that every component is properly and
securely in place.

This crib conforms to applicable regulations
promulgated by the Consumer Product Safety
Commission.

Follow warnings on all products in a crib.

A ATTENTION

Avant de réutiliser la bassinette,
assurez-vous qu elle soit conforme a
I'assemblage original.

Ne pas utiliser la bassinette s’il manque
des morceaux ou que ceux-ci sont
endommageés.

Contacter : CARAMIA FURNITURE,

839 CENTRAL PARKWAY, WEST,
MISSISSAUGA, ONTARIO,

CANADA, L5C 2V9 pour obtenir ces morce
aux ou les instructions d assemblage si
nécessaire.Ne pas utiliser de morceau de
substitution

Ne pas utiliser un matelas d eau.
Si vous devez refinir cette bassinette,
utiliser des produits non-toxique
spécifique pour les meubles de bébé

Ne suspendez aucun objet avec
des cordes au dessus de la bassinette.

Le bébé peut s étrangler dans les
espaces trop large si vous utilisez un
matelas trop petit.

Les parent doivent s assurer régulierement
d'avoir un environnement sécuritaire

et que I'assemblage estconforme aux
instructions avant de I  utiliser

Cette bassinette est conforme aux )
normes de la COMMISSION DE SECURIE D
ES CONSOMMATEURS

CAUTION: ANY MATTRESS USED IN THIS CRIB
MUST BE AT LEAST 27 1/4” (69 cm) x 51 5/8”
(131 cm) WITH A THICKNESS NOT EXCEEDING
6” (15 cm). DO NOT USE A WATER MATTRESS
WITH THIS CRIB.

ATTENTION : TOUT MATELAS UTILISER
DANS CETTE BASSINETTE DOIT AVOIR
MINIMUM 27 % (69 CM ) X51 5/8 (131 CM)
AVEC UNE EPAISSEUR N'EXCEDANT
PAS 6 PC (15 CM).




10

B Building Blocks
HE

FURNITURE

839 Central Parkway West,Mississauga,Ontario,Canada
L5C 2V9, Phone:905 361-1970 Fax:905 361-1969
Toll Free: 1-877-728-0342

Email: info@caramiafurniture.com
. www.caramiafurniture.com

/A\WARNING

Do not use this crib if you cannot exactly
follow the accompanying instructions.

Do not use this crib for a child who can climb
out of it or who is taller than 90 cm.

Do not place in or near this crib any cord,

strap or similar item that could become wrapped
around a child’s neck.

Do not place this crib near a window or a patio door

where a child could reach the cord of a blind or
curtain and be strangled.

Ensure that the sides of this crib are properly latched
or locked in the appropriate position when a child is
left unattended in it.

Check this crib regularly before using it and do

not use it if any parts are loose or missing or if
there are any signs of damage.

Do not substitute parts. Contact:

CARAMIA FURNITURE, 839 CENTRAL PARKWAY
WEST, MISSISSAUGA, ONTARIO CANADA,L5C 2V9

if replacement parts or
additional instructions are needed.

Use a crib mattress that is no thicker than 15 cm and
is of such a size that, when it is pushed firmly against
any side of the crib, it does not leave a gap of more
than 3 cm between the mattress and any part of the
sides of the crib.

Children can suffocate on soft bedding. Do not

place pillows, comforters or soft mattresses in this
crib.

/\MISE EN GARDE

Ne pas utiliser le lit a moins d’étre en mesure de
suivre précisément les instructions qui I'accompagnent.

Ne pas utiliser le lit si I'enfant est capable d’en sortir
ou mesure plus de 90 cm.

Ne pas mettre dans le lit ou a proximité de celui-ci des

cordes, courroies ou objets semblables qui risqueraient
de s’enrouler autour du cou de I'enfant.

Ne pas placer le lit prés d’une fenétre ou d’une porte-

fenétre ou I'enfant pourrait se saisir des cordes d’un
store ou d’un rideau et s’étrangler.

S’assurer que les c6tés du lit, dans le cas ou I'enfant y
est laissé sans surveillance, sont bien enclenchés ou
verrouillés a la position appropriée.

Vérifier régulierement le lit préalablement a son
utilisation et ne pas l'utiliser en cas de détection d’une

piéce desserrée, de piéce manquante ou de tout signe de
dommages.

Ne pas substituer une piéce a une autre.
Communiquer avec le CARAMIA FURNITURE,

839 CENTRAL PARKWAY,WEST MISSISSAUGA,ONTARIO
CANADA L5C 2V9, pour obtenir, au besoin, une pié

ce de echange ou des instructions supplémentaires.

Utiliser un matelas pour lit d’enfant dont I'é paisseur est
d’au plus 15 cm et dont la superficie permet d’empécher,
lorsqu’il est poussé fermement contre un coté
quelconque du lit, qu’un espace de plus de 3 cm soit créé
entre le matelas et une partie quelconque de tout coteé.

L’enfant peut s’étouffer en présence d’articles de
literie mous. Ne pas mettre dans le lit d’oreiller, d’é
dredon ou de matelas mou.




